QUIZ #5
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	Question
	Work
	Answer

	1. Simplify:
-2[5² - (14+ -2)÷6]
	
	

	2. [image: image2.png]Evaluate




for x = -2, y = 5

x² - 3xy + 1
	
	

	3. [image: image4.png](23)+ =3




	
	

	4. Jenny is making cupcakes. The recipe calls for 2 [image: image6.png]


cups of flour to make 8 cupcakes. If she has to make 20 cupcakes, how many cups of flour will she need?
	
	

	Extra credit:
Michael saves $ 700 in a checking account with an interest rate of 2%, compounded annually. If he adds his interest back to his original amount at the end of each year, how much money will he have in his account by the end of 5 years?
	
	


